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fi@), fo(z),... fm(x)D0DOO0O0O0ODOOY =
000 3g1(2),92(2), -, gm(x) € K[2] O g1(2) f1(2) + g2(2) fo(@) + -+ + gm(2) frn(2) =1 0000

000 P=g(T)f:(T)D000

P+Pyt -t Py=1
PPj=0 D00 i+#;0

000000000 V;=PR(V)000DO0O000000000000000000000000V;0 60
00mooooooo

0000000000z €V;07T|V;00000000000000 0000 (T—al)(z)=000000
00 P(x)=20000000000000000000000000000000000 (T-a;1)kP;=0
0000000(T —a;Dki(x) = (T — ;¥ P(x) =0(x) =0000000000 a#«e, 000 740
000 z=00000200000000000000000000000 a=q;0000

oooooon

§ UbOobOobuobobouooooooboon

TOOODDOOOOO J(ag, k)+J (a1, k)4 +J(am, k) 0000000000000000000
00000000 J(a, k) OOOOD VOOODOO W, 0000V=W1eWea---&W, 0000
a0 TO000D0000; =000 J(a,k;) 00000 W;000000000000000001V,0

gooo
V= P Va

al T OOOO

oe000000000000000000000O00O0O0O0O0O0O0O0 V,0«0000000D0O00D0O0O0
0000 VvV,000 J(ey,k;) 00000000000 DOD S000000000000000

O000000000000000000000000000000 f(z)0000f(x)00000000000 f(z)=00 K
0000000000000000 0000 a0 fi(x)=0000000000; 00000000000 ODODOOODODODODO
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